Soustraction (A)

900
67

100
12

100
47

100
59

100
99

900
23

100

(2

200

41

900

46

400

89

600

21

200

83

Calculez la différence.

700 700
— 92 — 55
800 100
— 8 —_45
300 600
— 41 - 19
500 300
— 34 - 33
900 100
— 80 —_13
500 100
— 28 — 45

900

95

600

88

400

59

900

26

400

20

800

76

900

21

900

31

500

63

300

96

600

82

900

79
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Soustraction Solutions (A)

900
67

833

100
12

8

100
47
53

100
59
41

100
99

900
23

877

100
(2
28

200
41

159

900
46

854

400
89

311

600
21

579

200
83

117

Calculez la différence.

700 700
— 92 — 55
603 645
800 100
— 8 —_ 45
714 )
300 600
— 41 - 19
259 H&1
500 300
— 34 - 33
466 267
900 100
- 380 —_13
820 87
500 100
— 28 — 45
472 35

900
95

809

600
88

512

400
59

341

900
26
874

400
20

330

800
76

724

900
21

879

900
31
869

500
68

432

300
96

704

600
82

518

900
79

321
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Soustraction (B)

700
23

200
63

500
87

400
4

300
98

200
44

100

ol

300

31

300

81

800

88

200

62

400

67

Calculez la différence.

500 400
- 68 - 29
400 900
— 35 —_069
900 700
— 5l — 41
700 200
— 4 - 22
600 600
— 8 —_ 63
500 400
— 81 —_50

100

50

100

71

600

89

200

24

700

16

800

49

600

29

400

29

800

12

100

44

600

94

600

8
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Soustraction Solutions (B)

700
23
677

200
63

132

500
87

413

400
4

320

300
98

202

200
44

156

100
ol
49

300
31
219

300
81

219

800
88

712

200
62

138

400
67

333

500
—_ 68
432

400
—_ 39
365

900
— 5l
849

700
—_ 44
606

600
— 8D
515

500
— 481
419

Calculez la différence.

400
— 29
371

900
—_ 69
831

700
— 41
609

200
— 22
178

600
— 63
b37

400
—_ 50
300

100
50

44

100
71
29

600
89

o1l

200
24

176

700
16

684

800
49

51

600
29
b7l

400
29
371

800
12

788

100
44

o6

600
94

506

600
8

515
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Soustraction (C)

100
27

400
92

400
70

200
93

500
D2

700
11

400

48

100

10

900

61

200

42

200

44

700

45

Calculez la différence.

800 600
- 59 - 40
700 400
- 63 —_16
800 200
— 42 - 80
100 500
— 77 —_ 65
200 100
— 94 — O8
400 200
— 36 —_ 67

600

46

300

53

200

63

900

18

400

34

300

60

500

2

500

92

300

63

400

99

600

o1

400

65
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Soustraction Solutions (C)

100
27
3

400
92
308

400
70

330

200
93

107

500
D2

448

700
11

639

400
48

302

100
10
90

900
61

839

200
42

158

200
44

156

700
45

650

300
—_ 59
41

700
—_ 63
637

800
— 40
758

100
— 77
23

200
— 9
106

400
— 36
364

Calculez la différence.

600
— 40
560

400
— 16
334

200
— &0
120

500
—_ 69
435

100
—_ 68
32

200
— 67
133

600
46

554

300
53

247

200
63

132

900
18
882

400
34

366

300
60

240

500
2
428

500
92
408

300
68

232

400
99

301

600
51

549

400
65

339
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Soustraction (D)

300

29

900

30

100

24

800

3

200

o6

600

95

600

04

400

66

900

69

100

76

600

63

200

22

Calculez la différence.

200 700
— 11 - &1
200 400
— 97 —_ &5
600 900
— 57 —_ 59
100 400
— 26 —_ 35
300 700
— 30 —_65
400 600
— 6 —_ 59

300

48

100

63

500

(5

500

30

100

68

700

17

300

34

500

01

400

8

300

66

600

33

300

H2
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Soustraction Solutions (D)

300
29
271

900
30

870

100
24

76

800
3

27

200
o6

144

600
95

505

600
64

536

400
66

334

900
69

831

100
76
24

600
63

537

200
22

178

200
— 11
189

200
— 97
103

600
— o7
543

100
— 20
4

300
— 30
270

400
— 76
324

Calculez la différence.

700
— 481
619

400
—_ 85
315

900
— 59
s41

400
— 39
369

700
— 65
635

600
—_ 59
H41

300
48

52

100
63
32

500
(5

425

500
30

464

100
68

32

700
17

633

300
34

2606

500
61
439

400
8

315

300
66

234

600
33

567

300
H2

248
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Soustraction (E)

500

10

500

43

200

98

400

32

300

10

900

76

600

44

100

31

300

28

900

61

100

17

100

23

Calculez la différence.

100 300
— 8 — 31
600 300
— 32 - 27
100 400
-89 - 20
600 600
— 10 —_ &
400 700
- 10 —_ 31
900 700
— 46 —_ 37

600

90

100

63

800

24

400

47

400

06

600

33

400

99

500

45

900

37

100

20

500

48

600

31
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Soustraction Solutions (E)

500
10
490

500
43

457

200
98

102

400
32
368

300
10

290

900
76

824

600
44

500

100
31
69

300
28

272

900
61
839

100
17
83

100
23
7

100
— 78
22

600
—_ 32
568

100
— &9
11

600
— 10
590

400
— 10
390

900
— 46
854

Calculez la différence.

300
— 31
269

300
— 27
273

400
— 20
330

600
— 85
515

700
— 31
669

700
— 37
663

600
90

510

100
63
32

800
24

776

400
47
303

400
06

344

600
33

b67

400
99

301

500
45

455

900
37

863

100
20
30

500
48

452

600
81

519
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Soustraction (F)

400

34

700

90

900

b4

800

96

100

13

600

71

900

30

300

45

900

22

600

30

600

64

300

79

Calculez la différence.

200 800
— 8 - 35
900 100
— 13 —_30
200 300
— &7 —_ 62
700 700
- 380 —-_10
500 200
— 77— 95
700 300
— 56 —_ 068

600

360

100

69

100

71

100

73

900

89

900

31

300

19

100

18

200

79

100

40

400

68

600

21
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Soustraction Solutions (F)

400
34

366

700
90

610

900
b4

846

800
96

704

100
13
87

600
71

529

900
30

860

300
45

209

900
22

878

600
30

520

600
04

536

300
79

221

200
—_ 98
142

900
— 13
887

200
— &7
113

700
— &0
620

500
— 7
423

700
—_ 56
644

Calculez la différence.

300
— 39
765

100
—_ 30
70

300
— 62
238

700
— 10
690

200
— 95
105

300
—_ 68
232

600
360

564

100
69
31

100
71
29

100
73
27

900
89

811

900
31

369

300
19
281

100
18
82

200
79

121

100
40
60

400
68

332

600
21

579
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Soustraction (G)

100

24

900

21

500

92

400

88

700

5

200

21

800

80

200

66

200

27

500

13

600

83

600

D2

Calculez la différence.

400 100
— 46 —_ 93
700 800
— 82 —_ 86
800 800
— 46 -89
200 500
— 49 — &0
700 900
— 66 —_ 68
100 900
— 46 —_ 52

200

26

900

47

100

82

100

29

200

20

300

62

100

24

400

63

300

63

900

8

200

76

400

938
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Soustraction Solutions (G)

100
24

76

900
21

879

500
92

408

400
88

312

700
5

625

200
21

179

800
80

720

200
66

134

200
27

173

500
13
487

600
83

517

600
D2

H48

400
— 46
354

700
—_ 82
618

800
— 46
754

200
— 49
151

700
—_ 66
634

100
— 46
H4

Calculez la différence.

100
— 93
7

800
—_ &6
714

800
— &9
711

500
— &0
420

900
—_ 68
832

900
— 52
848

200
26
174

900
47
853

100
82

18

100
29
71

200
20

180

300
62

238

100
24

76

400
63

337

300
63

237

900
8

815

200
76

124

400
98

302
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Soustraction (H)

100

30

700

31

200

31

500

28

300

21

600

29

900

90

800

34

600

56

400

86

900

34

800

3

Calculez la différence.

900 300
— 3 —_ 49
400 200
— 959 —_ 38
300 700
— 20 —_ 68
500 400
— 58 —_ 67
700 400
— 59 - 23
100 500
— 43 —_ 063

600

8

400

61

100

95

100

53

300

34

300

(3

300

46

300

39

400

16

100

49

700

53

700

8
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Soustraction Solutions (H)

100
30
70

700
31
619

200
31

169

500
28
472

300
21

279

600
29

571

900
90

810

800
34

766

600
56

H44

400
86

314

900
84

816

800
3

27

900
— 73
827

400
—_ 59
341

300
— 20
280

500
— 98
442

700
— 99
641

100
— 43
57

Calculez la différence.

300
— 49
201

200
—_ 33
162

700
— 68
632

400
— 67
333

400
— 23
377

500
— 63
437

600
8

515

400
61
339

100
95
D

100
53
47

300
&4

216

300
(3

227

300
46

254

300
39

261

400
16

384

100
49
51

700
%!

647

700
8

622
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Soustraction (I)

700

23

800

42

300

68

500

28

600

69

600

96

500

32

900

(2

600

13

400

92

200

97

200

DO

Calculez la différence.

700 300
— 15 —_ 066
500 400
— &4 - 34
500 400
— 0 - ¥
700 300
— 29 - 24
600 900
— 30 —_ 17
300 100
— b — 63

700

99

200

4

800

22

100

50

800

360

400

67

400

38

700

17

600

8

400

88

300

f

500

18
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Soustraction Solutions (I)

700
23
677

800
42

758

300
68

232

500
28
472

600
69

H31

600
96

504

500
32
468

900
(2
828

600
13

H87

400
92
308

200
97

103

200
DO

145

700
— 15
635

500
— &4
416

500
— (0
430

700
— 29
671

600
— 30
570

300
— M
246

Calculez la différence.

300
—_ 66
734

400
— 34
366

400
— &4
316

300
— 24
276

900
— 17
833

100
— 63
37

700
99

601

200
4
126

800
22

778

100
50
44

800
36

764

400
67

333

400
38

362

700
17
633

600
8

515

400
88

312

300
f

223

500
18

482
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Soustraction (J)

200

43

800

20

300

13

800

o8

500

96

600

39

800

17

900

63

400

24

600

64

500

60

800

27

Calculez la différence.

800 300
— 48 - 93
100 700
— 61 — 17
500 400
— 90 —_93
500 200
- 89 - 77
400 900
— M1 - 0
600 600
— 81 - 69

100

17

300

39

200

D3

300

50

600

90

500

46

300

53

400

67

200

24

500

82

100

13

400

5O
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Soustraction Solutions (J)

200
43

157

800
25
775

300
13

287

800
o8

742

500
96

404

600
39

561

800
17
83

900
63

832

400
24

376

600
64

536

500
60

440

800
27

73

300
— 48
752

100
—_ 61
39

500
— 90
410

500
— &9
411

400
— 74
326

600
— 481
519

Calculez la différence.

300
— 93
207

700
— 17
633

400
— 93
307

200
— 77
123

900
— 70
830

600
—_ 69
H31

100
17
83

300
39

261

200
D3

147

300
50
244

600
90

510

500
46

454

300
53

42

400
67

333

200
24

176

500
82
418

100
13
82

400
DO

345

MathsLibres.com




